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BECC-101 : INTRODUCTORY MICRO- 

ECONOMICS 

Time : 3 Hours  Maximum Marks : 100 

Note : Answer questions from each Section as 

per instructions given.  

 (i) Section A : Answer any two 

questions.  

 (ii) Section B : Answer any four 

questions.  

 (iii) Section C : Answer both the 

questions. 
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Section–A 

1. (i) Does technology shift the production 

possibility curve to the right ? Explain. 

    4 

 (ii) Distinguish between the following : 8 

  (a) Consumer Surplus and Producer 

Surplus 

  (b) Positive and Normative Economics 

 (iii) Examine the tax burden under the 

following situations : 8 

  (a) When demand curve is perfectly 

elastic and supply curve is of 

normal shape. 

  (b) When supply curve is perfectly 

elastic and demand curve is of 

normal shape.  

2. (i) Derive the demand curve with the help 

of law of diminishing marginal utility 

(Diagram is required). 6 



 [ 3 ] BECC–101  

C–2494/BECC–101 P. T. O. 

 (ii) Define the income effect and the 

substitution effect of a price change. 

Using Hicksian method, illustrate 

graphically the decomposition of 

substitution effect and income effect of 

a change in price of a commodity. 10 

 (iii) Which returns to scale does this  

Q = AL0.8K0.5 production function show ? 

4 

3. (i) ‘‘A typical production function has three 

stages.’’ Explain with the help of 

diagrams. 4 

 (ii) What is the firm’s expansion path ? 

Show the expansion path in the short-

run in the case of linear homogeneous 

production function. 10 



 [ 4 ] BECC–101  

C–2494/BECC–101 

 (iii) Distinguish between external economies 

and external diseconomies.  6 

4. (i) What is the relationship between long-

run marginal cost curve and long-run 

average cost curve. 10 

 (ii) Define perfect competition. A perfectly 

competitive firm, faces P = ` 4 and 

Marginal Cost (MC) = 3Q2 – 14Q + 12. 

The slope of MC-curve is given by  

6Q – 14. 10 

  (a) Determine the best level of output 

of the firm. 

  (b) Find the total profit of the firm at 

this level of output, if total cost curve 

is given by Q3 – 7Q2 + 12Q + 5. 



 [ 5 ] BECC–101  

C–2494/BECC–101 P. T. O. 

Section–B 

5. (i) Why does a tax create a deadweight  

loss ? What determines the size of this 

loss ?  4 

 (ii) Suppose the supply of labour (LS) is 

given by LS = 10. W, where W is the 

wage rate. (in rupees per hour). The 

demand for labour (LD) is given by  

LD = 140 – 10 W. 8 

  (a) What will be the free-market wage 

rate and employment level ? 

  (b) Suppose the govt. sets a minimum 

wage of ` 9 per hour. How many 

people would then be employed ? 
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6. (i) If Babu is indifferent between Coke 

and Pepsi, what would  

Babu’s indifference curves look like ? 

Explain. 6 

 (ii) Draw an income consumption curve 

and Engel curve for good-X, assuming 

that the price of X is ` 10 and the price 

of Y is ` 25 by examining income of  

` 100, ` 200 and ` 300. 6 

7. With the help of a diagram, explain the 

difference between the substitution effect 

given by Slutsky and Hicks. 12 

8. (i) Discuss the concept of long period 

economic efficiency. 4 

 (ii) Explicate the concept of increasing 

returns to scale, diminishing returns 
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to scale and constant returns to scale 

with the help of isoquant curve 

analysis. 8 

9. (i) Distinguish between Co-operative 

Behaviour and Non-co-operative 

Behaviour. 4 

 (ii) Let there be two firms which produce 

output under zero cost of production. 

The market-demand is given by  

P = 20 – Q, where Q is total output. 

Calculate output solution for the two 

firms under Stakelberg’s model. 8 

10. Write short notes on the following : 6+6=12 

 (i) Kinked demand curve. 

 (ii) First theorem of Welfare Economics.  
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 Section–C  

11. What do you understand by the market 

failure ? Explain the sources of market 

failure.   6 

12. What role does consumer utility 

maximisation and firm cost minimisation 

play in a general equilibrium analysis ? 6 
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BECC–101 

dyk Lukrd (vkWulZ) vFkZ'kkL=  

(ch- ,- bZ- lh- ,p-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-lh-&101 % izkjfEHkd O;f"V vFkZ'kkL= 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % izR;sd Hkkx ls ;FkkfunsZ'k iz'uksa ds mÙkj fyf[k,A  

 (i) Hkkx d % fdUgha nks iz'uksa ds mÙkj fyf[k,A 

 (ii) Hkkx [k % fdUgha pkj iz'uksa ds mÙkj fyf[k,A 

 (iii) Hkkx x % nksuksa iz'uksa ds mÙkj fyf[k,A 

 Hkkxµd  

1- (i) D;k izkS|ksfxdh mRiknu lEHkkouk oØ dks nkfguh 

vksj f[kldk nsrh gS \ O;k[;k dhft,A 4 
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 (ii) fuEufyf[kr esa Hksn dhft, % 8 

  (d) miHkksDrk dk vkf/kD; vkSj mRiknd dk 

vkf/kD; 

  ([k) okLrfod vkSj vkn'kZewyd vFkZ'kkL= 

 (iii) fuEufyf[kr voLFkkvksa esa dj&Hkkj dh tk¡p  

dhft, %  8 

  (d) tc ek¡x oØ iw.kZr% yksp'khy vkSj vkiwfrZ oØ 

lkekU; vkdkj dk gksA 

  ([k) tc vkiwfrZ oØ iw.kZr% yksp'khy vkSj ek¡x oØ 

lkekU; vkdkj dk gksA 

2- (i) Îkleku lhekUr mi;ksfxrk ds fu;e dh lgk;rk  

ls ek¡x oØ dh O;qRifÙk n'kkZb,A (js[kkfp= iz;ksx 

djsa)   6 
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 (ii) dher ifjorZu ds izfrLFkkiu izHkko vkSj vk; izHkko 

dh O;k[;k dhft,A fgDl dh fof/k dk iz;ksx dj 

fdlh oLrq dh dher esa ifjorZu ds izfrLFkkiu ,oa 

vk; izHkkoksa dks js[kkfp= }kjk i`Fkd~&i`Fkd~ fu:fir 

dhft,A  10 

 (iii) ;g mRiknu Qyu fdl izdkj ds iSekus ds izfrQy 

n'kkZ jgk gS % Q = AL0.8K0.5 \ 4 

3- (i) ß,d lkekU; mRiknu Qyu esa rhu lksiku gksrs gSaAÞ 

js[kkfp=ksa }kjk O;k[;k dhft,A 4 

 (ii) QeZ dk foLrkj iFk D;k gksrk gS \ ,d jSf[kd 

le?kkr mRiknu Qyu dk vYidkfyd foLrkj iFk 

n'kkZb,A  10 
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 (iii) cká ferO;;rkvksa vkSj cká viO;;rkvksa esa Hksn 

dhft,A  6 

4- (i) nh?kZdkfyd lhekUr ykxr oØ vkSj nh?kZdkfyd 

vkSlr ykxr oØ esa D;k lEcU/k gksrk gS \ 10 

 (ii) iw.kZ izfr;ksfxrk dh ifjHkk"kk nhft,A ,d iw.kZ 

izfr;ksxh QeZ ds le{k dher P = ` 4 rFkk lhekUr 

ykxr (MC) = 3Q2 – 14Q + 12A bl MC 

oØ dk <ky 6Q – 14 gSA 10 

  (d) QeZ ds mRiknu dk Js"Bre Lrj Kkr  

dhft,A 

  ([k) bl mRiknu Lrj ij QeZ dk ldy ykHk D;k 

gksxk ;fn mldk ldy ykxr oØ  

Q3 – 7Q2 + 12Q + 5 gks \ 
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 Hkkxµ[k  

5- (i) ,d dj furkUr gkfu dh n'kk dks D;ksa iSnk dj  

nsrk gS \ bl gkfu dk vkdkj fdlls fu/kkZfjr gksrk 

gS \   4 

(ii) eku yhft, fd Je dh vkiwfrZ (LS) gS %  

LS = 10 W, tgk¡  W etnwjh nj gS (#i;s izfr 

?k.Vk esa) Je dh ek¡x LD = 140 – 10 W gSA 8 

  (d) fucZU/k cktkj esa etnwjh nj rFkk jkstxkj dk 

Lrj D;k gksxk \ 

  ([k) eku yhft, fd U;wure etnwjh nj ` 9 

izfr ?k.Vk r; dj  nh tkrh gSA vc fdrus 

yksxksa dks jkstxkj feysxk \ 
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6- (i) ;fn ckcw dksd vkSj isIlh ds chp le vf/keku  

iw.kZ gks mlds lekf/keku oØ dSls fn[ksaxs \ 

le>kb,A 6 

 (ii) oLrq X ds fy, ,d vk; miHkksx oØ rFkk ,d 

,fUty oØ cukb,] ekU;rk gS fd X dh dher  

` 10 rFkk Y dh dher ` 25 gSA vk; ds Lrj 

Øe'k% ` 100] ` 200 rFkk ` 300 ekudj viuk 

fo'ys"k.k dhft,A 6 

7- ,d js[kkfp= }kjk fgDl vkSj LyV~Ldh ds izfrLFkkiu 

izHkkoksa ds chp vUrj Li"V dhft,A 12 

8- (i) nh?kZdkfyd vkfFkZd n{krk ij ppkZ dhft,A 4 

 (ii) leksRikn oØ fo'ys"k.k dh lgk;rk ls o`f¼'khy 

iSekus ds izfrQy] Îkleku iSekus ds izfrQy vkSj 
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fLFkj iSekus ds izfrQy dh ladYiukvksa dks 

le>kb,A 8 

9- (i) lg;ksxh O;ogkj vkSj vlg;ksxh O;ogkj esa Hksn Li"V 

dhft,A  4 

 (ii) nks Qes± 'kwU; mRiknu ykxr ij mRiknu dj jgh gSaA 

cktkj ek¡x P = 20 – Q }kjk fn[kkbZ xbZ gS]  

tgk¡ Q ldy mRikn gSA LVsdycZxZ izfreku ds 

vUrxZr nksuksa Qeks± ds mRiknu Lrj vkdfyr 

dhft,A  8 

10- fuEufyf[kr ij y?kq fVIif.k;k¡ fyf[k, % 6+6=12 

 (i) ddqnrkiw.kZ ek¡x oØ 

 (ii) {kse vFkZ'kkL= dk izFke izes; 
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Hkkxµx 

11- cktkj dh foQyrk ls vki D;k le>rs gSa \ cktkj dh 

foQyrk ds lzksrksa dh O;k[;k dhft,A 6 

12- O;kid lUrqyu fo'ys"k.k esa miHkksDrk }kjk mi;ksfxrk dks 

vf/kdre djus rFkk QeZ }kjk ykxr dks U;wure djus dh 

D;k Hkwfedk,¡ jgrh gSa \ 6 

× × × × × 

 

 

 

 

 

 

 


